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Four bikers are riding their own bikes. Each bike has a brand a
riding the Aprily bike.

1. Greta is not wearing the green helmet.

2. The yellow helmet is two sizes bigger than Anne's helmet.

3. Of the biker wearing the Medium helmet and Yoshi, one is
riding a Grooves and the other is wearing the white helmet.

nd each motorcyclist is wearing a helmet. Figure out who is

4. The biker riding a Yamada is wearing a helmet one size
bigger than Anne's helmet.

5. The biker riding a Honshu is wearing a helmet two sizes
smaller than Yoshi's helmet.

6. Harold is wearing the yellow helmet.
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Four bikers are riding their own bikes. Each bike has a brand and each motorcyclist is wearing a helmet. Figure out who is

riding the Aprily bike.

1. Greta is not wearing the green helmet.

2. The yellow helmet is two sizes bigger than Anne's helmet.

3. Of the biker wearing the Medium helmet and Yoshi, one is

riding a Grooves and the other is wearing the white helmet.

4. The biker riding a Yamada is wearing a helmet one size
bigger than Anne's helmet.

5. The biker riding a Honshu is wearing a helmet two sizes
smaller than Yoshi's helmet.

6. Harold is wearing the yellow helmet.
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